BEBAR—YF7HATE—H(18AH)
8A218 XKAYYH—IB(AILZG) 8:45%F 6FMN tUAFRH(FEF—LTHE). ks

8H21H HERME: 120 (1 XE)—1272(24KB)—357 (1\—2)—1257(653—6%) 3K B
Aa—h (FE EBREIHAD =4 Ba—hk (R xHal) ]
NO |BfaEsZl Xt B 1AXE | 248 | 3KXE Xt Ek 1AXE8 | 2K48 | 3XE
1 900 | BEYVIVFX | VS |FBIEIL LY | Ad—MNo2FELELY |BEEI7VAURE[ VS | LiIbLEY Ba—hkNo25EL &Y
2 10:00 HR4ESS VS | HIfERLtEY Ad—FNol1FELELY | BBAKRTAH| Vs | fEMLEY Ba—kNol5EL & LY
3 11:00 I EEKR VS | BEIIVEL ATJ—FNo2EEL ALY EEN Y | VS [BEEI7UACRE|  Ba—bNo2iELAL
4 1200 | E/MrLEY | VS | BBRERTH| AI—HFNo3FELAELY | FEEI V| VS WSS Ba—MNo3EEL &L
5 13.00 | fEMbLEY | VS | EEFLEY ATJ—FNo4ZEL ALY HIfERLEY | VS mERER Ba—MNo4EEL &L
6 1400 |BEEI7VECRE| VS | BHEARTH| AI—FNo5FELEL BEISVE | VS WSS Ba—hkNo55EL ALY
7 15:00 | /MLt | VS | fEMELEY AJ—kNo6EELELY | REBILEY | VS | BifaRLEY Ba—hkNo6EEL & LY
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HEB=AR—Y7HT—(2BAH)
8HA22H0 XKAYYH—IB(AILZG) 8:45%F 6FMN tUAFRH(FF—LTHE). ks

8H22H HERME: 120 (A XE)—1272(24KB)—357(1\—2)—1257(653—6%) 3K B

Aa—h (FE EBREIHAD =1 Ba—hk (R xHal) ]
NO |BfaEsZl Xt B 1AXE | 248 | 3KXE Xt Bk 1AXE8 | 248 | 3XE
1 9;00 EEKR VS |FEIENL Y| Aa—RNo25EL ALY ERNEY | VS | EIbRLEY Ba—kNo2FEL &L
2 9,50 |BEIFVAVRE| VS | fEMbL LY AJ—RNol15EL ALY BEIZVX | VS | HIFERLEY Ba—kNolEEL&LY
3 10,40 EEKR VS W& SS ATJ—FNo2EEL ALY ERNLEY | VS | BBART7H| Ba—FNo2FELELY
4 12:30 |A5{iL VS B5HI| AJ—MNoSEELALY  |A4 VS B4fI| BaI—HNo5EEL ALY
5 13:20 |A3fiL VS B3fiL| AJ—FNo4EELALY |A2{i VS B2fif| Ba—HhNo4ZEL ALY
6 14:10 |A{iL VS B1fiZ] A3—FNo5EELALY &S
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